T‘ '-r —\‘x’
2q~r.—.~q'ﬂ ¢~

—-"E“

N:DF=M0, LF= ,0, 2 = »

——

‘State the third congruence that is needed to
using the given Postulate or theorem.

4. GIVEN: LA=/X /B=ry, 9 = o BC
Use the AAS Congruence Theorem.  AC

S. GIVEN: Z4= /X, AB=Xy. ?
Use the ASA Congruence Postulate. .~ 2

. 6. GIVEN: BC=7YZ. /C= 7 =' 9

,_L._—"’__,;

Use the AAS Congruence Theorem. . A4

Il

It

A
— -
—

DF = MO

LD = /M

Use the ASA Congruence Postulate. 20D = /1

P2

Y

D

Prove that /\ ABC = /. XYZ

Is it possible to prove that the triangles are congruent? If so, state the

postulato(t) or theorem(s) you would use.

F 8. - N

1!
Yes, ASA™ | \\
Congruence £
*Rostulate' use Yes, AAS Congruence Theorem:

Wfi. = WL by Reﬂexxve

Thcoer

R= LX L M= L A R=LY 13.

AAS Congruence Theorem

11. Yes, SAS Congruence Postulate

Y LTSN = £ USH by Vertical Ang)

W=Jz AM“'AZ ZR=_2Y 11. fﬁzxz.fk =

S.

AL

XY ZJ= 22X

IM=/LZ. ZR=LY.JM= XY

: ;gmrs afcongruent angles is insufficient to prove triangle congruence.

3. No: two angles and a non-included side are congruent, but the non-included sides are not

corresponc i'r._ parts.
I
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| | 45
Explain how you can prove that the indicat;;?' riang
using the given postulate or theorem. Sce below. 3
14. ABEF = ABED by SAS
15. AADB = ACFB by ASA
16. AAFB = ACDBby AAS

17. Proof Complete the proof. 7
GIVEN: WU || YV. XU || ZV WX = YZ
PROVE: AWXU = AYZV

Statements
1. WU | Y7
2. LUWX = LVYZ
3. XU || ZV

- Given

8. LUXW = LVZY 4._2  Corresponding Angles Po
ESTTY Py— . - voy .
5. WX=YZ .2 Gwen_

8. AWXU = AYZV 6. 2 ASA C

0

Fraof Wrrite a proof.
LIVEN: ZB= 4D, ZDAE = ZBEA

CIROVE: AABC = AEDC
ven ihat ZB8 = ZD. By tm Convers=
\ngles Theorem. AC = EC. By the
rles heorem. ZBCA = £ DCE.
L = AEDCTY the AAS Congruence

-~

| ‘ k 1 |
14, !_W“ pairs of (‘.m-wﬁpundmg s10es ( BF = BD. EF = ED) and the cc ,o'ﬁ_; l’.i",r.‘-a".
(£ BFE = ZBDE) are congruent. R

1

15. l'wo pairs of  corresponding

angles (ZADB = nd the corre:
ncluded sides (AD = CF) ( £ZCFB, ZBAD = AB% nd the corr

are congruent, 3

-
—

R

16. Two pairs of corresponding

L2 angles (ZABF = = /BCD) and thi
non-meluded sides (AF =g ( ZCBD éBAF — “‘ L7) and u

CD) are congruent.

Geometry
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. ——'-A— L\-! f\’_a -~ ‘.A : -

3. LADB = 2CBD
AABD ACDB, SSS
B

Statements

1. YX = WX

2. ZX bisects £ YXW.
3. LYXZ=LWXZ

5. BD = BE 6. BC= AT
AABD = ACBE: ASA AABC = ASTA: AAS | 4. X7=XZ

8. AYXZ = AWXZ

Corresponding pa ” ,u,“' congruent

6.Y.=WZ X
triangles are congruent.

Use the information given in the diagram to write a proof. -

=70 13. PROVE: DB=CB

12. PROVE: MN :
i

A

ram to write a plan for a proof. Because ST | z.Q >
: -

PR.VE* £ DAB = ZBCD 8. . SF=RO  LPRO=/RSTby & /

the ("urrc\pmldmg
Angies Postulate. Use
the ASA Congruence
Postulate to prove

Ty

that ‘;.'!');'('l’) = ARST

| [ hen use the fact that
, | corresponding part:
A DA :‘5 ABCD Then use the fact that correspondmg of conerucat tranales )
., ts 0 of ngmgmtnmxgles are congruent to prove that o o O ot iy - . ——
£DAB = LBCD. that 57 & RO ' L it b M AATsie Ikiersr Angles |. AB = BE (Given)
ZADB= ZECEB (‘Giwn?) |

o Losgruence) :
| X | 3. £ABD = AEBC(V' 1l Angles
C(AAS Longruence Postulate) Theo ;,g;;.j_,,

() "
* 10 (Corresponding parts of congruent 4. ANABD = AEBC( AS Congru

Inangles are congruent.)

Statements (Reasons)

3), B(2,9), C(6, 6). D(8, 5). E(8, 11), F(12, 8)
the Distance Formula to find the side lengths of the triangles. Use the 555 Congruence Posiulate
] | """ = ADEF. Then use the fact that corresponding parts of congruent triangles are
{ to prove /e | ’- al ZA= ZD. k . =
' ammﬂam find the side lengths of the triangles. Use the SSS Congruence s ziit' mba
‘ 'a ADEF Then use the fact that corresponding parts of congruent 3 =B




Ao d

(2x + 11)°

142"

ar enough information is given to prove that the triangles

are cO mnt. Emlnm your answer.

— _-l' -—!

.F.

".}3\’ e "““’ “’9 nnd 10, comPlO“ the proof.

-~ ‘_va i—

e

D You can prove the triangles 8.
are congruent by AAS
Congruence Theorem. Use

BC = BC by the reflexive
property of congruence.

........

Reasons

1. 2 Given

2. Base Angles Theorem
3. _? Given

4. SAS Congruence Postulate

5, 2 (Qorresponding parts of congruent triangles are congruent.

} nere 1s not & )"U”ll

.’"" FINAaLIO. You or r\

GIVEN: £1=£2,AC=BD
PROVE: £3 = /4

Statements Reasons

1. £1 =22 1.2 Given

2. AC = BD 2._? Given

3. LAEC = £BED 3._2  Vertical Angles Theorem

4, 20 4. AAS Congruence Theorem '

DAEC = ABED T

5.4AE = BE 5._2?  Corresponding parts of congrueﬁt* angles are congn
6. £3= /4 6. _?  Base Angles Theorem B

In Exercises 11-16, use the diagram. Complete the statement. 'l‘gl!"‘"

theorem you used. r A P '.’ &5 ‘ p'a“ 5

11. IfPO=PTl. thenZ_ 2 =/ 7 O, T: BaseAnglesThe.orem- P
12. L LPOV=LPVQ,then 2 =_17 .
PO, PV, _Converse of Base Angles Theon,m
13. IfRP=SPthenZ_? =/_2
PRS, PSR: Base Angles Theorem
14. fTP=TR. then £Z_? =/
PRT, RPT; Base .»\ngles Theorem
,1_5._l_f£PS'O ZSPQ, then _? '.-.—‘:__‘Z_.
(5. OP; Converse of Base Angles Theor 1
16. If LPUV = £PVU, then_? =

. PU, PV; Converse of Base Angles Theo em

In Exercises 17-19, use the following information.

Prize Wheel A radio station sets up a prize wheel when they are out promoting their
station. People spin the wheel and receive the prize that corresponds to the number the-
wheel stops on. The 9 triangles in the diagram are isosceles triangles with con

vertex angies.

17. The measure of the vertex angle of triangle 1
1s 40°. Find the measures of the base angles. 70°

18. Explain how you know that triangle 1 1s

congruent to triangle 6. e

Each of the triangles is isosceles and every pair of adjacent triangles have a\ 7 /
common side, so the legs of all the triangles are congruent by the Transitive : 'f- /
Property of Congruence. The common vertex angles are congruent, so any m S
of the triangles are congruent by the SAS Congruence Postulate.

19. Trace the prize wheel. Then form a triangle
whose vertices are the midpoints of the bases
of the triangles 1, 4, and 7. What type of
triangle 1s this? equilateral
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Ske a. .ABGD and draw us nnage after
e translation (x, ¥) = (x + 5,y + 3).

AE?igmeABCD has vertices A(3, — 1),

6, —2), C(5. 3), and D(0, 4).

' \T«v hABCD and draw its image after
the translation (ey)— (x— 3,y + 2).

right. 5 units down
+35‘3" 3
' > left, 6 units up

> (x “4)54-*6)

translation

r—_

rotation

Figure ABCD has vertices A(—2. 3).
B(1,7), C(6,2).and D(—1, —2),
Sketch ABCD and draw its image after
the translation (x, y) = (x — 2,y — 4).

. Figure ABCD has vertices A(—1, 3)
B4, —1). (6, 4), an
Sketch ABCD and aras
the translation (o

'\’ [/;& ;

e notation to describe the transiation.
9. 7 units to the left, 2 units down

(X, ) =2 (x — Ty — 2)

I unit to the right. 8 units up
(x.y) = (x+ Ly+8)
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Complete the statement using the description dﬁ’tlu
description, points (2, 0) and (3, 4) are two vertices of

17. If (2, 0) translates to (4, 1), then (3, 4) translates to_‘Z__ (52 5|
18. [f(2,0) translates to (=2, —1), then (3, 4) translatesto _2 . (—

A point on an image and the translation are given.
point on the original figure.

19. Point on image: (2, —4); translation: (x, ¥) = (x — 4, y + at)j.h =1)

20. Point on image: (—5, —7); translation: (x, y) = (x, —=p) (=5, .-3_..‘..

21. Verifying Congruence Verify that
ADEF is a congruence transformation :
of AABC. Explain your reasoning.
Use the Distance Formula to show that corresponding
sides are congruent, A ABC = ADEF by SSS |
Congruence Postulate. |
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